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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-“A’

Question numbers 1 to 10 carry 1 mark each :

(5 + 5 ) (5 -5 ) on simplification gives :

A) 20 B) 25 (C) 10

The simplest rationalisation factor of /50 is :

(A) 542 B) 2 (©) 50

Degree of zero polynomial is :
(A) 0 B) 1
(C) any natural number (D) not defined

The coefficient of x2 in (3x2—5) (4+4x2) is :
(A) 12 (B) 5

Number of dimension(s) a surface has :
(A) 0 B) 1 © 2

The angle which is equal to 8 times its complement is :
(A) 80 (B) 72 G 90 (D)

P is a point on side BC of AABC such that AP bisects £BAC. Then :
(A) BP=CP (B) BA>BP (C) BP>BA (D)

In the given figure 1, AD is the median, then £BAD is :
A

B D C
Figure 1
(A)  55° (B)
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In AABC and APQR AB=PR and £ZA= ZP. The two triangles will be congruent by SAS
axiom if :

(A) BC=QR (B) AC=PQ (C) AC=QR (D) BC=PR

In the given figure 2, the value of x which makes POQ a straight line is :

Figure 2
(B) 30 (© 25

SECTION - ‘B’

Question numbers 11 to 18 carry 2 marks each :
Find two rational numbers between 3 and 4.

In figure 3, AE=DF, E is the mid point of AB and F is the mid point of DC. Using an Euclid
axiom, show that AB=DC :
B D

Figure 3
OR

In the given figure 4, if I || m, then find the value of x ?

Figure 4

940112 - Al




In the given figure 5, OP bisects £BOC and OQ bisects £ AOC. Show that £POQ =90

Q C

1 1
93 x 272

Simplify :

If —1 is a zero of the polynomial p(x) =ax?—x?+x+4, find the value of a :

AB and CD are the bisectors of the two alternate interior angles formed by the intersection of
a transversal ‘t" with parallel lines | and m ( Shown in Figure 6) Show that ABJ||CD.

Figure 6

17. Prove that AABC is an isosceles triangle of median AP is perpendicular to the base BC :

18. Plot the point P (2, —6) on graph paper and from it draw PM and PN as perpendiculars to
x-axis and y-axis, respectively. Write the coordinates of the points M and N.

940112 - Al




SECTION -‘C’

Question numbers 19 to 28 carry 3 marks each :

3 2
Simplify the following by rationalising the denominators : 15— V3 + 15 + 3

OR

J2 -5
— = V10  fi
If NG a+b , find the value of a and b.

1
Ifa =2+ \/§, then find the value of a+ —.
a

Represent /4.2 on the number line :

If the polynomial P(x)=x*—2x3+3x2—ax+8 is divided by (x—2), it leaves a remainder 10.
Find the value of a :

Find the value of x3+13—12xy+ 64, when x+y= —4.
OR

1 1

3 3 3
7
Without finding the cubes, factorise and find the value of (Zj + (5) - (E) .

Plot the points A (1, 3), B (1, —1), C (7, —1) and D (7, 3) in cartesian plane. Join them in
order and name the figure so formed.

In figure 7, AB||DC, £BDC=30° and £BAD=80° find £x, £y and £z.
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Prove that angles opposite to equal sides of a triangle are equal.
OR

In Figure 8, AB=AC , D is the point in the interior of AABC such that £ DBC= £ DCB.
Prove that AD bisects £BAC of AABC.
A

C
Figure 8

In Figure 9, AB||CD and CD||EF. Also EA LAB. If ZBEF=55° find the value of x, y
and z ?

N

Z
55

Figure 9

The adjacent sides of a parallelogram ABCD measure 34 cm and 20 cm and the diagonal AC
measures 42 cm. Find the area of the parallelogram.

SECTION - ‘D’

Question numbers 29 to 34 carry 4 marks each :
Show that (x—2) is a factor of the Polynomial f{(x)=2x3—3x%—17x+30 and hence factorise

ftx).
OR

The Polynomials ax3—3x2+4 and 2x3—5x +a when divided by (x—2) leave the remainders
p and q respectively. If p—2q=4, find the value of a.

If x+y+z=1, xy+yz+zx=—1 and xyz= —1 find the value of x3+13+23.

Factorise :a!2y*—a%y12,
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AABC is an isosceles triangle with AB=AC, side BA is produced to D such that AB=AD.
Prove that £BCD is right angle.

OR
In figure 10, ZQPR= £ZPQR and M and N are respectively points on sides QR and PR of

APQR, such that QM =PN. Prove that OP =0Q, where O is the point of intersection of PM
and QN.

R

(@)

Figure 10

In Figure 11, ABCD is a square and ADEC is an equilateral triangle. Prove that :

(i) AADE=ABCE (i) AE=BE (i) ZDAE=15°
E

Figure 11

In Figure 12, £BCD= £ ADC and £ ACB= ZBDA. Prove that AD=BC and £ A= ZB.
A B

Figure 12
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(A) BC=QR (B) AC=PQ (C) AC=QR (D) BC=PR
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A C
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ST 4
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34, 3fd 12 H, ZBCD= ZADC @1 £ ACB= ZBDA | 4§ It AD=BC and £ A= £B |
A B
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